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Part 1 Mnultiple Choice. Write the lotter of the best answer {o each of the following
questions. 50 points.

1. Another word for orthography is . (A) writing; (B) spelling; (C) pronunciation; (D}
LOITeChon.

2. How many phonemes are in the word enough? (A) 3 (BY4;(C) 5: (M 6.

3. [p] and [m)] are bath sounds. (A) voiceless; {B) aspirated; (C) comtinuant; {2} bila-
bial. 8

4. In the word treasure, the 5 is pronoinced as a . {A) voiced palatal fricative; (B)
voiceless palawl fricative; (C) voiceless alveolar fricative: (D) voiced paiatal affricate.

3. In English, » is generally pronounced as . {A) mnilled; (B) wvular; (C) retroflex; (D)
pharyngeal,

¢. In (Beijing) Mandarin, post-vocalic ~ is pronounced as . (A) trilled; (B) wvular; (C)
retroflex; (D) pharyngeal, -

7. [h] can be described as a . (A} voiceless glotial fricative; (B) glotial stop; {C) pha-
ryngeal ghide; (D) voiced glottal spirant.

8. The {&] can be described as a - (A) low front rounded vowel; (B) low front un-
tounded vowel; (C) high front unrounded vowel: (I} low back unrounded vowel.

B.Cnnﬂnﬂantswhichuccmimmvmaﬂtheatendemymﬁckupthcfmhmﬂ . (A)
nasal; (B) plosive; (C) voiceless; (D) voiced.

10. Which of the following illustrates metathesis? (A) [minal] for animal. (B) [Eoklat]
for chocolaze; (C) {Baletzk] for athleric; (D) {haessin] for as seen.

1]. Unstressed vowels in English tend to becoms . {A) stressed; (B) nasalized; (C) [a];
{D) [@].
12. A Hine on a map used fo separate a dialect area is called a(n) . {A) 1sogloss; (B)

dialect atlas; (C} lexicon; (D)) spectrogram.

13.Dueufﬂmmuﬂuddmmmddisﬁguﬁgfaﬂum&fwﬁamdi%nf&gﬁshismﬂ
. {A) simplification of consonant clusters; (B} deletion of past-vocalic r; (C) loss of

distinction between {2] and [2]; {D) variation between f2) and [a).

14. When children learn a pidgin as a first language, it is called a . {A) lingua franca;
(B) creole; (C) Tok Pisin; (D) native pidgin,
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15. The word morphophonemics s an example of . [A) taboo; {B) jargon; (C) euphe-
mism; (D) epithet.

16, The werd dish (referring 1o a worman) is zn example of . (A) taboo; (B) jargon; (C)
euphemism; (D) epithet,

17. The team rest room 1s an example of _ (A) taboo: (B) jargon; {C) cuphemism; (D)
epithet,

18. How does Black English Vemacular (BEVY) differ from Standard American English
(SAE)? (A) BEV has a simpler grammar. (B) BEV has a simpler vocabulary. {(C) BEV forms
verb tenses differently. (1)) all of the above.

19. A graphical depiction of speech can be seenona ; {A}MM{E}m{C)
augmermted transition network; (D) spectrogram,

20, Old English was most similar to . {A) German; (B) French; (C) Latin; (D) Britanic.

21. What do linguists mean when they say “Sound change is regular™? (A) The rules never
have exceptions, (B) Sovnds occwring in the same finguistic environments undergo the same
changes, (C) The spund changes go in the sarne direction. (D) The rules apply to all diaiects
of a language.

22. The English Great Vowel Shifi affectad . {A) long vowels; (B) short vowels; (C)
front vowels; (D) all vowels,

23. Which aspect of language can changs most rapidly? (A) phonology, (B} syntax; {C) lexd-
cor;, (D) morphology.

24. Which of the following 15 not relaied to English? (A) Sanskrit; (B) Greek; (C) Hebrew,
(D) Irish.

23, Older forms of English relied more on than Modern English, (A) grammatical
case; () prepositions; (C) word order; (D) vocabulary.

26. 150 years ago, the Russian language expressed distmxctions between uncle/ound as
brother/sister of mother or father (similar to the distinctions in the Chinese system). In Mod-
et Russian, there is only one word for uncle and one word for auns (similar to the systern in
English). What is the most likely reason for this change? (A) changes in pronunciation; (B)
changes in morphology; (C) changes in language acquisition; (D) changes in sociesy.

27. Most of the basic vocabulary (everyday words) of English is from __ . (A) Germanic,
{B) Scandinavian: {C) French; (D) Latin.

28. Most of the borrowings of the Middle English period are from ____. (A} Greek; (B)
Scandinavian; (€} French; (D) Latia.
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29. If an Enghish word begins with sk it was probably borrowed from . {A) Greek: (B)
Scandinavian; {C) French; {D) Latin. .

30. In English. many of the technical words used in the sciences {e.g. phonology) are made up
of elements. (A) Greek; (B) Germanic; {C) French; (D) Latin.

31. Grimm’s Law accounts for which of the following chin'ys? {A) Latin guingue and Eng-

lish five; (B) Latin pisces and English fisk; (C) German Kase and English cheese; (D) English
dish/disk.

32. About how many languages are there 1s the world today? (A) 1000; (B) 4004, (C) 6000,
(D) 10,000.

33 The ealiest writing systems were probably . (A) alphabetic; (B} syllabic; (C) pic-
tographic; (D) hieroglyphic.

34. When a morpheme has an alternate phonetic forn, these forms are called . (A)al-
lomorphs; (B} allopbones; (C) mimmal pairs; (D) accidental gaps.

35. Why is English spelling so chaotic today? (A} When ithe printing press was introduced,
there were many ways 1o spelt words. (B) Many of today’s spellings are based on older pro-
nunciations of English {C) Many English words and spellings were borrowed from other
languages. {1} All of the above.

36 For which of the following theories of first language acquisition is there evidence? (A)

the imitation theory: {B) the reinforcement theory; {C) the critical age hypothesis; (D) all of
the above.,

37. Language is located primarily in which part of the brain? {A) front, (B) left; (C) right;
(D) corpus callosum.

38, A term used to refer to language disorders that ocowr following injury to the brain is
. {A) aphasia. (B) dyslexia. (C) glossolalia. (D)) autism.

39, In Old English hlaf meant “bread”. In Modern English Alaf has become Joaf. What kind
of semantic change does this tllustiate? (A) meaning shiRt; (B) broadening; (C) namrowing,
(D) loss.

40. Many American place names, such as Massachusetts, Missisxippi, Wisconsin, have come
from . {A) Spanish; (B) Italian; (C} Dutch; {I)) American Indian languages.

41. The sentence *Mary aie a good theory is bad because it violates a . (A) subcategori-
zation frame; (B) selectional restriction; () transformation; (1)) prescriptive rule.

42. Which of the following is NOT a means of creating new words? (A) generation; (B} deri-
vation; (C) ceining; (D) clipping.

43. How many morphemes are there in removals? {A) 1; (B} 2; (C) 3; (D) 4.
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44. Which of the following is NUT an example of a compound? (A} counterproductive; (B)
White House; (C) greenhouse; (D) red-hot.

45, Which of the following is a present perfect form? (A) go; (B) goes; {C) is going; (D) has
gone.

46G. Which of the following is an example of a prescriptive mile? {A) A sentence should not
end with a preposition, (B) English is an SVO language. (C) In passive sentences, agents can
be ontted. (D) wh-movement. |

47. Whick of the following is an example of a head-complement relation? (A} Alfrext's mas-
ter; (B) eat fruit; (C) speak slowty; (D) a man from Los Angeles.

48. In the sentence Mary is in love with herself, Mary and herself are (A) synonymous; {B} in
opposition; {C) coreferential; (D) dissociated.

49, The sentence Mary no fonger iives in New York City that Mary once lived in New
York city. (A) presupposes; (B) connotes; {C) asserts; {I}) denotes.

50. The sentence #e walked ro the bank contains a good example of (A} structural ambiguity;
(B} lexical ambiguity; {C) paraphrase; (D) contradiction.

Part 2 Write the following septences in regular English spelling. 10 points.
51. war kalerias grin aldijoz sliples 1n sijetal?
52. bab slajst da sas1j wif a najf.

53. pipal fram jursp go swimin In samar.
54, waj did s €rkan kras Da rod?
55, aj hop aj kan pas 01s egzaem.

Part3

56. In the following sentence, ideptify (a) each inflectional affic, (b) each denvational affix
5 points.

Mary’s strong disagreement with the visitors ended all hopes of a happy meeting.

Fart 4 Makimg Sentences. 4 points each.

57. Write an English senience that has 2 first person plarsl subject and a present tense pas-
sive verh form. Underline the subject and the present tense passive verb form.

58. Wiite an English sentence that has a reciprocal pronous appearing in an embedded sen-
tence. Underline the embedded semence and circle the reciprocal pronoun.
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59. Write an English sentence that )lustrates recursion. Explain the recursion in your £Xam-
ple.

60. Write an English sentence that includes an agent, apltm:t,and a recipient. Underline
and label the phrases that have these roles.

61. Winte an English tag question in which the main verl is intransitive and the main sen-
tence does NOT contain an anxiliary verb.

62. Write twe English sentences: (A) one that is meaningful but ungrammaticsl; and (B)
one tbat is grammatical but not meaningfal.

Part 5

63. Draw the phrase struciure tree that exactly corresponds to the following structure: 6
poinis.

[staselastomorrow]](ptneathati pfatali]}nboy][pefpin] [np[anthe] ar[aback T} hrow ]}
Lamcwill] [vpvvisitive[ aqan] uathlete](she[prohe])vel vadmires]]3)]).

64. For each of the following sentences (a-¢), indicate whether it can be generated by this

simple grarmar (plus the complete English lexicon). You do not have to draw trees; just say
YES or NO for each sentence. 5 points,

5 — NP Aux VP

NP — Ari (Adj) N (S)
VP — (Adv) V NP (PP)
PP — P NP

a. The students will take a hard test.

b. The people denied the fact that the earth is round.
¢. The boys might like that girl.

d. Old dogs can sometimes learn new tricks.

e. The tall trees stood majestically beside the road
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